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O It HII2 fIE XML 30,000
— HJIZ, 2 S 120,000 = 150& 18,000
— B2, BIAIEE S
120,000 = 100E€ 12,000
O HEgHIIES /edel 25|
450,0008 * 63| 2,700
O HEHDIS tisetl 22
200 = 1,5000H4 300
O MEssnsE s&X 2
35,0008 * 20% » 128 8,400
O WEEE H8% M43
100,000& = 12& 1,200
02 24| 4,470 5,666 A 1,196
O Wes 2Uxy BAWLRSS
10,0008 ~ 10CH 310
O MEE 2} 29|
1,800& * 1004 = 12&€ 2,160
O MES2E 2N (XA, 22 )8
22| 1,000,000& * 13 1,000
O MEE FAXNYE A2
1,000,000& * 13 1,000
202 o4 | 440 480 AN 40
01 2L I 440 480 AN 40




2M: 83
Hu: HOISHRIS S8 4uBF N
& Mg ol2els=A ool E )
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O UEgHll=s A8Xdel g2
20,000& = 23 = 11& 440
SASFHIISAHEEHC 552,370 529,650 22,720
201 24l 122,400 107,250 15,150
01 At 2t 2l 122,400 107,250 15,150
O SNERHIIZ ASHe 248
85,000& = 120& » 12& 122,400
206 M= Hl 8,700 0 8,700
01 M= 4l 8,700 0 8,700
O SAMEJRHI=E =HEI 7Y
20,000& = 7504 1,500
O SASFHIIS Y2BS AN
42 « 25,0000 = 123 7,200
307 gl2tol & 421,270 422,400 A 1,130
05 RIZHRIE 3 421,270 422,400 A1,130
O SA2HII2 =¥ &Y
385,220,000& * 14 385,220
O SASRHIIS 2A26eH|
36,050,000& * 14 36,050
FsHIIE =H ANAE 25 76,095 88,220 A12,125
= 9,500
< 7,907
[ia 58,688
dsHIIS+H A3 K& 76,095 88,220 A12,125
= 9,500
< 7,907
s 58,688
202 04l 880 960 A80
01 = LH 4 Hi 880 960 A80
O gsHlI=2 83 & =Hg =02
20,0003 = 2% « 23 » 113 880
301 et a3z 65,515 76,600 211,085
= 8,000
< 7,207
s 50,308
1MIIEELSS 65,515 76,600 A 11,085
O s%Bld =) A3 800,000& » 12& 9,600
O HHY =H Zd3 53,000& = 1,055& 55,915
= 8,000
< 7,207
s 40,708
401 AIEHI L 2 CHYI 9,700 10,000 A 300
= 1,500
< 700
[ia 7,500




2N B
Hu: HOI2H2AS S8 MEHY A

e dsHII2 =1 AMAE 2= (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al& H| 9,700 10,000 A 300
O 9=sHIIS 0SS =& AE XA (14
) 9,700,000 * 1JH A 9,700
= 1,500
& 700
= 7,500
SETSEA 23 WA 59,209 58,791 418
23 stE4A 22| 59,209 58,791 418
101 Q124 H] 40,821 40,301 520
04 JI2ZtHIZ22ANEE S 40,821 40,301 520
O 2=st&4a H3ZEX o2 40,821
orggl 44 000 = 159 * 142 x 48 36,960
— BE2(4UEE) 39,600,000€ = 9.75% 3,861
201 et | 4,718 4,760 N42
01 AP 2t 2] d| 2,718 2,760 N42
O IANE BS3&EA YRFA ZAH|
7,000 * 29¥ * 37< 518
O Z2s3da S&EXN 7
22,000 * 10004 &~ 2,200
02 2324 2,000 2,000 0
O 0ls4A &4 22| 500,0008 = 204 * 23] 2,000
202 044l 420 480 A 60
01 2L I 420 480 A B0
O Z2=stEA 22182 =& o]
20,000& * 3% x 73 420
206 M = dl 3,250 3,250 0
01 =4l 3,250 3,250 0
O BESATA Yo ASAE
20,000& = 13 * 1004 &~ 2,000
O Z2ZsEA HOAIE AU
125,000 = 1000 & 1,250
401 Al HI L 2 0HHI 10,000 10,000 0
01 Al& H| 10,000 10,000 0
O Z2sst&4a 24 2 WA
10,000,000& * 1JH A 10,000
HII2 22l 344,220 297,847 46,373
= 144,000
& 28,800
= 171,420
ANSEHIIS 22 344,220 297,847 46,373
= 144,000
= 28,800
= 171,420




2AM: 2F

Hu: HOISHRIS S8 4uBF N
el Hols 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 Lt 27,900 32,900 A5,000
01 At 22l 27,900 32,900 A5,000
O ggd #g 20,000 = 128 » 2& 480
O EiESmol &0 ¥ XHIIES Al
250,000& = 100= 25,000
O %FEF NBHH M2 HERY
10,000& * 504 500
O MEXMH BAt====
40,0003 = 43 = 123 1,920
202 44l 1,320 1,440 A 120
01 SLHOIYI 1,320 1,440 A 120
O HII2 &g 4 25t € XN&&EH
20,000 = 33 = 11& 660
O F4HH==AIE 260t & XNE EE
20,000 = 33 = 11& 660
207 RO ] 27,000 10,000 17,000
01 A3 39 27,000 10,000 17,000
O MFEME MEXA DA(EH) E4HI
17,000,000& = 14l 17,000
O Mol AZS(BBIIBE 165)Z A 2|
10,000,000& * 14 10,000
403 MtXISHE X201 & 288,000 240,000 48,000
= 144,000
< 28,800
e 115,200
02 S| 2SO0l CHEHCH & A Bl 288,000 240,000 48,000
O sd0lEMel XNEAY(EX)
2,880,000& = 100= 288,000
= 144,000
< 28,800
s 115,200
BZII=ANE 2822 1,170,862 2,628, 165 A 1,457,303
St=HMelEAE HE 222 496,078 2,034,671 A 1,538,593
St=HMeld 2949 496,078 593,671 A 97,593
101 @144 dl 5,469 5,118 351
04 JIZtHZ22XREES 5,469 5,118 351
O dt+=HMeld st (22 UsE) 4,829
- Jl=s 44,0003 = 100 4,400
— MTHEES JIY4AUHEEH)
4,400,000& * 9.75% 429
O 8ZJ=ENE =2 dF(Gt=HelE, |
Held, AAMIHEE)
0,000& = 28 * 2& » 23 640
201 Let2d] 221,461 191,932 29,529




2N

PSRN ANE 2g2tel
Ehel ZANE BE 22 )
BBl (300) - MISAY - BAS il 2
fzeldl 73,167 69,530 3,637
SAXAAN SUE B4 U HYET
50,000& = 12& 600
oteXMeld 2cls ¥ Mels |RA 22l
300,000& » 3= 900
BAIZANE 8EIRA AEER 2Y
60,000& = 10¥ » 53 3,000
BAI=ANE Z0HE HA2F S4ltl
7,0003 * 3% * 304 * 19 1,197
Saxiel® BEo KXl
150,000& » 50 A& 750
ot=XclY AMEZ & 50,0008 * 12 600
samelm gxg ARE 7Y
200,000& » 3= 600
ot=Xeld ZelHd EW 2
295,000& * 200 = 23] 1,180
BRI EZANE ARESE FLHI(MRES)
170,000& * 300 A& 510
BAIZANE SAEX 2L
22,0003 » 502t A 1,100
SEINZAE EAD MUY= U L2
200,000& = 109¥ 2,000
ot=XclE ZAH| 24,050
- 243 50,000& * 1% = 116 5,800
- =X 50,000& = 1% = 365¢ 18,250
BADSN At 0RO ABIHE P
1,000& = 1,00004 1,000
St=XMeld MII4Hl FIIEAM =2
550,000& * 28 1,100
BAINZANE SBS YY)
6,000& * 5b& ~ 12& 360
Ste=scd Xl RIgHE =2
80,000& = 200& 16,000
SHAANTH BEBA 4242
1,000,000& * 7& 7,000
=ZATMS BALEH A28 7Y
1,500,000& * 7& 10,500
SI4HAE BERE 2BHA 242
0,000& * 23] » 12& 720
323 148,294 122,402 25,892
SteXeld HILS(MYE)
6,500,000& = 12& 78,000
O dt=XNeld d3tea 3,024
— YBt& 3t 50,000& = 400 » 12& 2,400
- M3 26,0003 = 204 = 123 624
O ot=XMel& &ot== AMAEZ
100,000& * 128 1,200




2AN: =l
PRSI HIIZAE g2
CHe S HBAIE 2 922 )
- _ _ RE]
N X8-S (3H) - MEAY - B %Ei HR=2
O ote=Xel®d detg|(2ded)
1,400 * 404 * 120 6,720
O fddssidlz 30,000& = 34 ~ 128 1,080
O oteXeld &IoHE (el =
380,000& ~ 12& 4,560
O &HI=ZANE WHFI 22 & &
105,000 * 244 = 23] 420
O &HI=ANE HXEH KA 2eldl
300,000 = 304 A 900
O SHII=AH 22X MHEE =
60,0003 * 14¥ x 12& 10,080
O sdI|Ix=ANHE [RaR==N=g= 510
— AN&EZS 50,000 * 23| = 3 A 300
— NsX 35,000 * 23] = 304 210
O 8HIx=AH Stx HARZ2
30,000 * 3HA + 23] 180
O =ZEIAAZA TMS) S Xl &2 29|
5,000,000& = 7 35,000
O ot=xeld SEAH S 2 AH]
900,000& * 30 A 2,700
O ot=Xel& JIH=eE 2L M 1,920
— JIHeg 90,000& * 1S ~ 1294 & 1,080
— FelAa 70,0008 = 18 ~ 1294 & 840
O ot&=x™elz & A=2s =2lbl
2,000,000& = 14l 2,000
202 04d| 440 480 AN 40
01 2L I 440 480 AN40
O otexeld edxs =2 HA 4]
0,000& » 29¥ * 11& 440
206 M = Hl 97,718 101,693 N3,975
01 X2 H| 97,718 101,693 N3,975
O Gt+Hel®Z WASE BE 79
7,000,000& = 274 14,000
O ot=xeld E= HUE 2
3,355,000& « 1 3,355
O otE=xelzd o 2l
2,7502 x 15kg = 100 4,125
O d+xel® 248 STH %48 2
10,000& = 4kg » 120 4,800
O ot+Mel® dsAe ¥ =XII? 2
75,0008 * 25= 1,875
O SHII=ANHE | 2
9,9008 * 10kg = 90¥ 8,910
O BAINENE ZZ42 %3 L HE 7
00& *x 28 * 34 * 13 300
O dtE=Hdelz 3§ 28 R (Hel=2E2 38)
1,000 = 2502 * 23| 500




2N
X ZH -
L= B

el

2820
BAINEAE 2L
SHAmRAAL BB 2B

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
O ##ZJ=AM4 TelEy 24X +4 4,330
— 129 34,000& = 80 2,720
- 49 23,000 * 70H 1,610
O dt=xMel&E HMH a5 2 52,013
— XNGAMLUES 870& * 504 =+ 365¢ 15,878
— PACL(SHE 3303 = 300¢ = 365¢ 36,135
O dt=Hel&d HsHAHA 235 ¢
150,000& » 78 1,050
O gs =& 3l 2 2,460
- =g 2 2,000& * 34 + 150 900
- M=I F 520,000& = 3K 1,560
401 Al B2 28I 152,390 264,448 A 112,058
01 A& HI 151,300 262,557 A 111,257
O MEBtsX )| SSEX(EED) =al
5,000,000& « 2CH 10,000
O BMX S0A2E =2 2,000,000 = 2CH 4,000
O JIAH&H 212 2 8HMelAE 55 =2l
2,500,000& * 5& 12,500
O 428X CAHALE 28 =2l
3,000,000& * 2& 6,000
O ddls s= 2l 4,000,000& « 2CH 8,000
O dt=xecl& X s 83 34
2,000,000& * 400 A 8,000
O SLHMAEX PLC 55 =2l
6,000,000& » 28 12,000
O ZSUHMAALE 23EDZ 2 WBtI| 208 =cl
500,000& » 203 10,000
O RYBEDE 4+2us 42
3,000,000& * 14l 3,000
O &Hls mlzg = 300,000 * 64 A 1,800
O s2HA A 208 |AZc
2,500,000 = 4CH 10,000
O &£Hdl=s PLCLH CPU & S4&IEHl =2
5,000,000& * 2CH 10,000
O g32HIN 2totol & X
2,000,000& * 1CH 2,000
O &£dl=s 2l E =2l 2,500,000& * 204 5,000
O Rygod & =2A ™ &3
5,000,000& = 2CH 10,000
O dt=Xeld Ups =™ X A
5,000,000& * 404 A& 20,000
O &4 el PLCEE == WX
13,000,000& * 1JH A 13,000
O =2 TMS& UPS =& (100A)
5,000,000& = 14 5,000
O & XA RAS=H 50,0008 * 204 1,000




2M: 83
M BHAIZALE 22
Sel: ot=XNelEAE HE 22 )
2 S 4
SN BA(SA) - MRAY - BES 0l &t o e 2
03 Al S THHI 1,090 1,891 A 801
O ot=HelAlE RAE= ALY
151,300,000& * 0.72% 1,090
405 RHoHE S HI 18,600 5,000 13,600
01 AL EZFH S 18,600 5,000 13,600
O dot=xcld S2dMU BRE == WAl
1,400,000& = 404 5,600
O duted] ¢ 3,000,000 = 3CH 9,000
O agaE 80lgd ¢ 4,000,000& = 1CH 4,000
UMl EAE HE 222 194,913 168,021 26,892
UMY 2 194,913 168,021 26,892
101 @124l 2,898 2,687 211
04 JIZHHZ2XNHESE S+ 2,898 2,687 211
O fdx™elzd dazel 2,898
- Jl=s 44,0003 ~ 60 2,640
— GHEE S L (4UEd)
2,640,000& = 9.75% 258
201 Let24d] 89,768 79,524 10,244
01 At 22/l 9,419 9,461 N42
O AMHUY 2 S|
7,000& * 2Y * 33  11& 462
O PIMHelE B4 2 NP 7
50,000& * 2044 * 128 1,200
O fdxeld 83 & 50,0008 » 122 600
O fM4Hdeld el Ed #¢
295,000& =« 33l 885
O fIM™deld MLl BIEAM =2
700,000& » 13 700
O fId™deld 2els ¥ Mels |sX2altl
250,000& * 4= 1,000
O fMHeld Xl EHAAN =5
900,000& =« 23l 1,800
O fId™eld JIHFLES 2L WA 2,772
- Jloeg 33,000& = 38 * 128 1,188
- Fola 44,0008 * 38 * 128 1,584
02 2324l 80,349 70,063 10,286
O /MHeld MIa(MYE)
5,000,000& * 12& 60,000
O SIMHel® ey (2L)
1,400 = 204 = 2084 » 120 6,720
O fIMHeld sdX 2RI 10,029
— NSXAM(1E 48 0lat) 29,0008 * 1CH 29
— AEHF4
1,800 * 54 = 4Al2F = 250 9,000




2M: 33
HzM: StHI)ZANE 2F 22
Sl AMHRAZAL HY 2L (S &2)
2 S 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— XEFs X 1,000,000& * 1CH 1,000
O &bl AE2 30,000 = 12&€ 360
O MKl & EIIoHE =
270,000& » 12€ 3,240
202 o4 | 1,320 1,440 A 120
01 2L HI 1,320 1,440 A 120
O MM S 29 422 ofYl
20,000& = 3¥ * 23| = 11& 1,320
206 M = Hl 25,770 26,270 A 500
01 X2 H| 25,770 26,270 A500
O /AMHeld &) 6uxE P2
3,000,000& = 14 3,000
O /AMxel s HAEX A %H|71o EAgy N el
2,750 * 15kg * 120 4,950
O AMHAT =¥ 22 2Y(HE S 23)
1,000& = 5002 500
O MKl &2 SEMH 42 2!
6,000€& * 10kg * 250 15,000
O /MHdeld HsHH 88 2
150,000& * 10 1,500
O ess £22A HH 2L 820
— M==g 32 2,000& * 15004 300
— M0 7 520,000 = 1JH 520
307 gizto| & 1,500 1,500 0
05 QIZ2tRES 1,500 1,500 0
O fFMHeld 2 w82
15,000,000 = 10% 1,500
401 AlEHIZL 2 0HY| 73,657 56,600 17,057
01 Al&H| 73,000 56,600 16,400
O g&e2™de AMd 2 38 22|
2,500,0008 * 4= 10,000
O 24D 0/s2H & WEOIEs=E WA
2,500,000 * 204 + 13| 5,000
O BZ% 2 2= ¢ 3,000,000 * 3= 9,000
O x=3uwet)| 2 28 %2l 2,000,000& » 3= 6,000
O &J|grdl 9 35 42| 850,000 * 4= 3,400
O 8&8 BtEsI LFIISTHAILE X (2LFD]
=Xc2 ) 6,000,000& = 14 6,000
O &IA SINFH X (LFHI =821
5,000,000& = 14! 5,000
O &I MEBSH AHOI 2 SE X (25
Jl=&etA ) 4,000,000& = 14l 4,000
O L& XYAIE SX22ldl 60,0003 *= 104 600
O Ex5x HIH 2| 2,000,000 = 2CH 4,000
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2A: 23
M BHAIZALE 22
&S AMHEBEANLE HE 2F 22 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
— XEsA 2,000,000& » 104 2,000
O RHMEE 240 |RX2e 15,000
— IERF4
1,800& = 5AI2F = 92 = 100 8,100
- s, FelA 50,0003 * 35 » 63 900
— =cltl 6,000,000& = 1CH 6,000
O /MIHEHE JIHFLE 2L WA 1,848
- JHeg 33,000& * 28 » 12& 792
- Tl 44,0003 * 28 = 12& 1,056
202 oddl 1,760 1,920 A 160
01 = LH o4 1l 1,760 1,920 A 160
O ABWYE 28 ALE ofy|
20,000& = 2¥ * 33 » 112 1,320
O AMegd 35+ & Kot =ZF A bl
20,0003 = 2% » 11& 440
206 M=l 35,870 38,620 AN2,750
01 =8l 35,870 38,620 A2,750
O ABWYE YoALs MEH
20,000& = 2¢ = 100 4,000
O E&=X2AME HEMAE 2ZH 2L
2,750 * 10kg = 100 2,750
O AMHEgd g8M(dHMAE) 2
5,000& = 12 = 250 15,000
O MM =SEMH 2
50,0003 = 25& » 63 7,500
O RFAMMHHE e 2 2,500,000& * 23| 5,000
O Milegd HsHU 235 7L
200,000 * 5& 1,000
O Y$F=> =ZZA ZH 7L 620
- =g 72 2,000& » 502 100
— M=J 2L 520,000 = 14 520
401 Al& I 28I 30,426 28,000 2,426
01 A& HI 30,100 28,000 2,100
O 8HelANd @82 2 115 =2
500,000& = 23| * 6& 6,000
O MEXelAld O/Ss8XE Y PLC =2l 2 38
1,000,000& * 5& 5,000
O B&=HaAd W uitdl 2 28 =2l
4,000,000& = 38 12,000
O dJlEd 2 3838 =2l 750,000& » 43 3,000
O XEAE RANE=H 60,000& = 104 600
O 2els 27 HIJIEANE B+
1,500,000& * 14 1,500
O Zels 2nH 2 2=l
2,000,000& * 14 2,000




2M: 83
M BHAIZALE 22
CHelr SIMIIREAIS N 2gael (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 Al S THHI 326 0 326
O BE==HelAE RAEx ALY
30,100,000& = 1.08% 326
HMOMHEE At=2t2 28,280 42,924 AN 14,644
101 @124 dl 1,200 1,224 N24
04 JIZHHZ2XREES 1,200 1,224 N24
O HMMHEHE M=&Y 2|
80,000& = 5)HA = 33 1,200
201 ¢er24l 26,600 21,400 5,200
01 At 2t 2l 26,600 21,400 5,200
O HMUHEH == 015 Ml
80,000& = 108 = 123 9,600
O HMIEE Xlcots 28 = 2 AHI (258 %)
300,000& = 10004 = 43l 12,000
O HMHEE EX2d HdXNE 2T ZA
i 2,500,000& * 20 A& 5,000
202 Odl 480 300 180
01 = LH 4 Hi 480 300 180
O HMOHEH Kot LEZH A 22
20,0003 = 2% = 123 480
OtSot=xeld 24 303,916 241,811 62,105
OiSot=xeld 29 303,916 241,811 62,105
201 Let24d] 141,944 104,888 37,056
01 At 2teltl 27,584 25,888 1,696
O DtSct=H™MelAlE =ZAAM =22(7H &5
) 60,000 * 37 * 43] 8,880
O DIZ3t+HEIAE YREL 242
10,000& *» 500& * 23] 10,000
O Oi2ot=Hel&d 2H 2E S JIHAZE
2 60,0003 * 362 * 13 2,160
O HABE 2 Hc? 29
50,000& 37002 1,850
O DiSot==Hel&d HRF& g4l
7,0008 * 3F = 43| »11& 924
O DiSot=Held 38 2 IMER =8 |F
=l 40,000 = 43 = 12& 1,920
O OtSot=HMa& sX2cl HSZ 7
50,000 » 3700 & 1,850
02 =24l 114,360 79,000 35,360
O Otgot=HelAlE &IIe3
7,000,000 * 12& 84,000
O Oigdt=HMeld I3 (1E, 55,935
9,600,000& * 30H A 28,800
O Oigdt=HMel® JIAHLY P2 (37HL) 1,560




2M: 83
M BHAIZALE 22
& DtSdt=HM2E 2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—JIA2E 60,000& * 1& » 123 720
—1ela 70,000& = 1& » 12& 840
202 O4dl 880 960 A 80
01 = LH o4 4l 880 960 A 80
O DiSdt=HMelE 2L =0l
20,0003 = 29 = 23 » 114 880
206 M= Hl 12,106 10,868 1,238
01 =8l 12,106 10,868 1,238
O Yas +TAN H2Y 2
2,000& = 370H2 * 200 = 123 1,776
O ¢4&F= Alg2i=0 2L 520,000& * 44 2,080
O &J:== 6t &
3,000 = 150kg * 6IH 2,700
O gs4+ A=%E 2 228 2
150,000& * 370HA = 18] 5,550
401 A& HIZ 201 8] 148,986 125,095 23,891
01 A& HI 147,920 124,200 23,720
O 238 & &Hel AlE 385 =cl
500,000& = 3& » 10H 15,000
OonoBLE S d=XH2ANE 285 =2l
450,000 = 28 = 15004 13,500
O M2d A=012 285 #=¢
600,000& = 2& » 10H 12,000
O Otsot=Hdeld 2X&Eel & =2 &
80,000 = 37 + 23] 5,920
O 2= 0|&EIZ =
250,000& = 2& » 200H 10,000
O d=28r8x Wit el
250,000& = 2& » 200H 10,000
O WasJI4 =82 &X
500,000& 2004 &~ 10,000
O ks F¥LTHMeANE 2wl & EZ29
(oA AS) 9,000,000& * 20K A 18,000
O wWwAsJl MRS, 8, #&)
8,000,000& = 30H A 24,000
O ¢HelAleE 28 28 WH
700,000& * 54 3,500
O =3 0tSot=HMcl& pPLCEE =2
5,000,000& = 1JH A 5,000
O P06t HMeld AIILH Ex+0ls3d
Z ) 7,000,000& * 10024 7,000
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At ) 14,000,000& * 1004 14,000
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H=EQ HEFAH 25 778,296 606,585 171,711
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Otsa+5 HEs & X2l 778,296 606,585 171,711
2 350,000
s 428,296
2RSS AIEHEAS 712,292 543,512 168,780
& 350,000
s 362,292
207 O &l 96,000 0 96,000
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O DtSs&=% Xlot= 510t SSXZA B9
4,000,000& * 24042 96,000
T AEHI &2 616,292 541,412 74,880
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